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Practice

A

Find the slope and y-intercept of each line.
L y=3x+1 2._}':%,1"—2
3. y=—4x+3 4. x+y=5
B. x+y-7=0 6. y+4=>5x
7. y-2x=0 8. y=3
Find the slope and y-intercept of each line.
9. dx+2y=3 10. x-y=4
1. 3x+2y+6=0 12. 2y+6=0
13. ¥-3y-9=0 14, Sx+2y=10

18. 22x+05y-1=0 18, 0=x-2y-4
17. 6.4x =028y 18. 1.2vr-0.3y=0.12

: Find the slope and y-intercept of the line through the

g i given pomts.

19. (1, 3)and (3, 5) 20. (2, 3)and (-1, 6)
21. (-7,-2)and (-1, -8) 22. (~1,~2) and (-5, -10)
23. (2, 1)and (6,4) 24. (-1,2)and (3, 4)

‘ 26. (6,9 and (-2,-5) 26. (4,-5)and (-2, 3)

Given the slope and y-intercept, write an equation of
| the lme in the slope and y-intercept form. Then, write

the equation in standard form.
i 27. m=2;b=3 28. m=3;b=-2
| 29. m=-4;b=6 30, m=-5;b=-7
| 31-??2‘=l;-'5*=1 3=.m=g;£=:—2
i 2 3
' i 2 1
| 33. m=-05,b=0 ﬂ_m:-sj e

Write an equation for each of the followin
| 35. horizontal line through A(0, 4)

| 36. vertical line through B(3, 0)

37. vertical line through C(-1, 2)

38. horizontal line through D(1, -3)

Geraph each line.
38. y=12x+5

40. y=3x-1

Find the slope and y-intercept of each line. Then, write

an Egtmrfm
y
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lppllﬁntlnn and Problem Solving

IS. Algebra An efjuation of a line is y = 2x + b.
W)a]ﬂfyﬁr f the line passes through the
a) ( 3) |l]' 35) e 2,-6) o) (-1,-3)

equation of a line is y = mx + 3,
Fm thr: \f/].uﬁ offm if the line passes through the

poi
a) [, lll' »3) €) (4,-5) d) (-1,-6)

§l 85. Explain wh}r these lines belong to a family.
2x+y+1=0
y+1=0

£ : 2 .r -
———
-2E0 =
crackers The equation g2 =6n + 55

relates thn: mass, 77 grams, of a box of crackers to
the number of crackers, #, in the box.
a) Graph the line.
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Practice

A

Find the slope and y-intercept of each line.
L y=3x+1 2._}':%,1"—2
3. y=—4x+3 4. x+y=5
B. x+y-7=0 6. y+4=>5x
7. y-2x=0 8. y=3
Find the slope and y-intercept of each line.
9. dx+2y=3 10. x-y=4
1. 3x+2y+6=0 12. 2y+6=0

‘ 13. - 3y-9=0 14, Sx+2y=10
r‘ s_&z.?r+ﬂ.5y-1={} 16. O=x-2y-4
: 17. 6.4x=0.8y 18. 1.2x-0.3y=0.12

m fi:ﬂ.!i‘le slope and y-intercept of the line through the

given pomts.

19. (1, 3)and (3, 5) 20. (2, 3)and (-1, 6)
21, (-7,-2)and (-1,-8) 22. (-1,-2) and (-5,-10)
23. (2,1)and (6,4) 24. (-1, 2)and (3, 4)

| 25. (6,9)and (-2,-5) 286. (4,—5)and (-2, 3)
‘ Given the slope and y-intercept, mm equation of

| the line in the glope and y-intercept form. Then, wrige
the equa ] forme

i 27. m = - 28. m=]; =‘k

| 29, m 30, m=-5; b=

,‘ 31. m s umzh!bz_z

I

| 33 m=-056=0 34 m=—2,p=-1

' Whrite an equation for each of the following lines.
| 35. horizontal line through A(0, 4)
| 36. vertical line through B(3, 0)

37. vertical line through C(-1, 2)

38. horizontal line through D(1, -3)

Geraph each line.

39. y=2x+5 40. y=3x-1

Find the slope and y-intercept of each line. Then, write
an equation of the line.
49, 2]
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Applications and Problem Solving

B

83. Algebra An equation of a line is y=2x+ 5.

ind the value of & if the line passes through the
polnt

4! 2) h} {_31 5} €) {-21 "'6} d} {_11 -3}

84. Algebra An equation of a line is y = mex + 3.
Find the value of m if the line passes through the
point
a) (2,1)

b) (-4,5) ) (4,-5) d) (-1,-6)

§l 86. Explain why these lines belong to a family,

;.a:%.:r—l 2x+y+1=0

Sx-2y-2=0
B6. Box of crackers The equation gn = 6n + 55
relates the mass, » grams, of a box of crackers to

the number of crackers, #, in the box.
a) Graph the line.

y+1=0
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